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Section A

Answer one question from this section.

1 Read the following passage and answer the questions.

© OCR 2015

OV 0’ avte mooéetne mepidpowv I[nveAdmela:
‘Avtivo’, o0 pEV KaAOV dTépuery ovde dikaov
Eetvoug TnAepdxov, 6¢ kev Tade dwpad’ tkntat:
EAmteat, al X’ 0 Eetvog Odvoonog péya toov
évtavoor) xeootv te Pindt te NPt bnoac,
olkadé 1 a&eoOat kat &y OnoecOat axortwy;
oVd’ avTOG OV TOLTO V' €vi ot0ecoLy €0ATtE:
HUNOé Tig uelwv ToL V' elveka OUUOV dxeVWV

EvOade datvoOw, ETtel OVOE PEV OVDE EokeV.

v O avt’ Evgvuaxog, IToAvPBov naig, dvtiov nvda:

‘kovon Tkaplowo, tepipoov ITnveAomewa,

oV Tl og TOVd' &&eoOat 0lopeD : 0vdE EotkeV:
AAA” aloxvvopevoL ATV AVOQWV T)OE YLVALKQYV,
U1 TOTE TIG €TI0 KAKWTEQOS AAAOC Axatwv

1) TTOAD X elQOVEG AVOQES AUVHOVOS AVOQOS AKOLTLY
HV@OVTAL O0DE TL TOEOV €DEOOV EVTAVVOLOLY:
AAA” RAAOG TIC TTWYXOG &AVNE AAaAT|HEVOS EAB@V
ONidlwe étavvooe BLov, dx d’ ke od1EOvL.

WG €oéovo’, MUV O’ av EAéyxea TavTa Yévorto.
OV 0’ avte mpooéetme mepidpowv [nveAdmea:
‘Evoupay’, oU mwe €otiv EUKAEIAG KaTo dNHoV
Eupevor ot dr) otkov Atiualovteg £dovaty
AVOQOG &QLoTNOG: TL O’ EAéyxea TavTa TlOe0OE;
00TOG 0¢ EelVOg A eV pHéyag 1O’ evTNYTS,

TatEog O’ €€ ayaBov yévog evxetal épupevat viog.”

Homer, Odyssey 21.311-335
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(@) Read lines 2-6 (Avtivo'... axortv). Explain why Penelope addresses Antinous as she does. [4]

(b) Read lines 7-9 (o0d avtds ... ovdE €owkev). How does Penelope attempt to show authority in
these lines? [3]

(c)* Read lines 10-19 (trjv d" avt’ Evgvbuaxog ... yévorro). How does Homer bring out the character
of the speaker in these lines? [15]

(d) Translate lines 21-25 (Evgvuay ... viog). [5]

© OCR 2015 H444/04 Turn over
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2 Read the following passage and answer the questions.
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Owimovg

Towdotm
Ouwlimovg
Toxaotn

Ouwlimovg

Toxkaotn

Oidimovug

Towdotn

Ouwlimovg

€0w: 0¢ YA Twvd’ €¢ mA£ov, yoval, oéPw:
Koéovtog, oid pot BefovAevkwg €xeL.

Aéy’, el oad@g TO VEIKOG EYKAAQYV €QELG.
dovéa pe ot Aaiov kabeotavat.
avTog ELVEWS 1) Habwv dAAoL T&Ea;

HAVTLV eV OOV KAKOLQYOV eloTépag, emel
T Y’ €lg éavTtov Tav €éAgvOeQot oTopA.

00 VUV ADELS TEAVTOV WV AEYELS TEQL

€Uov 'mdkovoov, kal Had’ obvek’ éotl oot
BOOTELOV OVOEV HAVTIKNG EXOV TEXVNG.
davw O¢ ool onuela TWVOE CVUVTOUA.
XONOHOG Yo NABe Aaiw o', 0VK €0W
®oiBov vy’ an’ avTov, TV O’ VTINEETWV ATO,
W avTov E€EoL potpa EOg madog Bavety,
0TI YéVOLT E€HOD TE KAKELVOL TTAQA.

KAl Tov pév, omeQ Y’ 1 patig, E€vol moTé
Anotat povevovo’ év TOIMAAIS ApAELTOLG:
Tadog de PAdoTAC OV dLéoyov Néoat
TOELG, Kal viv apOoa ketvog evievEag modotv
£ooupev AAAWV XeQotv afatov eig 6QoG.
KAVTavO ATIOAAWV oUT’ €kelvov 1jvuoev
dovéa yevéoOal mateog ovte Adiov

10 de1vov 0UPOPELTO TEOS MALdOS Oavelv.
TOLALTA PIIHAL HAVTLKAL DlQLoay,

@V EVTOEMOL 0L PUNdEV: WV Y& av Oeog
xoelav €gevva, Qadlws avTog Pavel.

oldv 1’ dkovoavt’ dotiwg éxet, yoval,
Puxne TAdvNUa kKavakivnotg Geevav.

miolag peplpvng Tovd’ vooToadeis Aéyelg;
€00&’ axovoal 0oL TOd’, wg 6 Adiog
Kataopayeln mEog TOLMAALS ApA&LTOoLC.

Sophocles, Oedipus, 700-730
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() Read lines 1-7 (¢po: ... otéua). With reference to these lines, explain how Oedipus shows that
he is suspicious of those around him. [4]

(b)* Read lines 8-20 (ov vuv adelc ... eig 6poc). How does Sophocles make these lines dramatically
effective? [15]

(c) Read lines 24-26 (towxvta ... pavet). Explain what Jocasta says to Oedipus in these lines.  [3]

(d) Translate lines 27-31 (oidv ... apa&Ltols). [5]

© OCR 2015 H444/04 Turn over
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Section B

Answer one question from this section.

3 Read the following passage and answer the questions.

© OCR 2015

Nog O Tavl’ WEHaLVE KAt poéva kal katax Ouuov,
& O’ ‘EAévn BaAapolo Buwdeog VPoddolo
NALOeV AQTEUIOL XOLONAAKATW ELKVIA.

™m0 &’ &’ Adpnjotn kAwoinv ebtukTov £0nKey,
AAxinmn 0¢ tadmnta pégev paAakov £ploto,

DLAw O’ &pyvEOoV TdAaEOV PEQe, TOV oL €0niev
AAxavoon, IToAvBolo dapag, O éval’ evi OnPng
Atyvrting, 601 mAeloTa OOHOLS €V KTIHATA KELTAL:
0c MeveAdw dake dU’ dpyvoéag doaptvOoug,
dolovg d¢ Toimodag, déka O XQLOOLO TAAAVTA.

Xwols " avO’ ‘EAEévr dAoxog Tdoe KAAA LA dDwoat:

XOLOENV T’ NAaKkATNV TdAaQdv 0 OtdkLKAOV OTTxToEV

AQYVQEOV, XQUOW O’ &l XelAea KEKQAAVTO.

TOV Q4 ot ApdinoAog PuAw maEEONKe Pégovon
VIIHATOS AOKNTOLO PePLOUEVOV: AUTAQ ETT AVTQ
NAaKATN TETAVLOTO L0dVEPES £lQOC €xovoa.

€CeT0 O’ €V KALOHQ, DTO & BN VUG TOTLV 1)EV.
avTika 0’ 1)y’ €méeool OOV €QéeveV Ekaota:
‘dpev 1), MevéAae dlotpedég, ol Tiveg olde

AVOQWYV EVXETOWVTAL IKAVEUEV HUETEQOV DW;
Pevoopal 1) ETupov E0éw; KéAeta € pe Bupoc.

0V YA&Q Tw TIVA Gt €otkOTa wde 1déoOatL

oUT &vdQ’ oUTe yuvaika, oéBag I €xeL eloogdwoay,
wg 60" OdvooNOC peYAANTOQOC LiL £0LKE,
TnAepaxw, tov éAeimte véov yeyawt €vi olkw
KELVOG AV, 0T  €UEL0 KLUVWTIOOG elvek’ Axatol
NAOe0’ V1o Toolnv MoAepov Bpaovv Oguatvovteg.
Vv O’ anapelBopevog oooédn EavOog MevéAaoc:
‘00T VOV Kal €Y Voéw, YOvaL, we oL El0KELS:
Kelvou Y toloide mOdeg TolxidE TE XEIQES
opOaAp@v te PoAal kepaAr T’ EPUTeQDE Te YaltaL.
Kal VOV 1] ToL éyw pepvnuévog apd’ Odvont
pvBeouny, doa ketvog OLlLvoag EUdynoev

aud’ éuot, avta O TEoOV VT OhELOL dAakELOV i,

xAatvav mogdueénv avt’ opOaApoiy dvaoxwv.”

Homer, Odyssey, 4.120-154
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(a) Read lines 2-8 (¢x 0" 'EAévn ... kettar). How do these lines suggest that Sparta is wealthy?  [4]

(b) Translate lines 9-13 (0c ... KekEAAVTO). [5]

(c)* Read lines 14-27 (tov 04 ... dpuaivovteg). How effectively does Homer hold the interest of the
audience through these lines? [15]

(d) Read lines 29-35 (oUtw ... avaoxwv). Explain how Menelaus’ response to Helen follows up what
she has said. [4]

© OCR 2015 H444/04 Turn over
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4 Read the following passage and answer the questions.

Tepevg

Owimovg

Tepevg

Oidimovug

Tepevg

© OCR 2015

AAA” dodpadeia VO &dvopBwoov TOALY:
OVLOL Yoo Kol TV ToT’ alolw TOXNV
€T X £G ULV, KAl TavOV {00G YeVvou.

WG elmeQ AQEELS TNODE YNG, WOTEQ KOATELS,
EVV AVOQAT Y KAAALOV T) KEVT)G KOATELV:
WG OVDEV €0TLV OVTE TVEYOG OVTE VUG
€0MNHOG AVOEWV U1 ELVOLKOVVTWY E0w.

@ TAOES OLKTEOL, YVWTA KOVK &YVWTA HOoL
mEooNAOe0 " ielgovtec: €V Yo oid” dtL
VOOELTE TAVTES, KAL VOOOUVTES, WG €Y@
oVK £€0TLV VM@V O0Tic € {oov vooel.

TO HEV YO DUV AAYOG €lg év’ Eoxetat
HOVOV Ko avTOV KOLDEV' AAAOV, 1) 0 €u)
Puxr) MOALY Te KARLE KAl O OPOL OTEVEL
@oT ovX UTvew v’ ebdovVTd 1’ e€eyeipete,
AAA’ lote MOAAX pév pe daxkpuoavta O,
TIOAAAG O 6dOLS EADGVTA PpovTidOog TAdVOLC:
v 0" €0 ooV NUELoKoV {aov uovny,
tavtnVv Eéngaa: mada Yoo Mevotkéwg
Koéovt', épavtov yapPeov, ¢ ta ITuOwa
émeppa PoiPov dwpad’, wg MO0’ 6 T
dowV 1) Tt pwvav Tvde Quoaluny TOALY.
Kal pU o 10N EVUUETEOVUEVOV XOOVQ
AVTEEL T TQACTEL: TOV YOQ ELKOTOC TTEQ
AmeoTt Agiw TOL KaB1KOVTOg XQOVOU.
Otav O’ tkntal, TNVIKALT &YW KAKOG

un dowv av einv mavO’ 6o’ av dnAot Bedg.

AAA’ elg kaAov o0 T elmtag otde T aQTiwg
Koéovta mpoooteixovta onuaivovot pot.

wva AToAAov, el yaQ €v toxn Yé T
owTNEL Bain AQUTEOC WOTEQ OUUATL.

AAA eldoat pév, 1OUG: 0L YA &V K&
TOAVOTEPNG WO’ €LOTIE TTAYKAQTIOV DAPVTG.

Sophocles, Oedipus, 51-83
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(a) Translate lines 1-5 (&AA'... koatelv). [5]

(b)* Read lines 8-24 (w maideg oiktol ... mpaooer). What impression of Oedipus does Sophocles
convey in these lines? [15]

(c) Read line 29 (Koéovta ... pot). Explain how this is a significant moment in the plot of Oedipus. [5]

(d) In lines 30-33 (dva& ... dadvng), explain why Oedipus and the priest believe that Creon may
have good news. [3]

© OCR 2015 H444/04 Turn over
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5 Read the following passage and answer the questions.

© OCR 2015

HavOiog

AAAWS PAVAQELT : 0L Yap E€evprioeTe.
eLon 'mOvpelt’ eldévat, oryate vov.
dodow ya 1dN TV vVOoOoV ToL deoTtdTov.
GUANALoTNC €0TIV WG OVDEIS AVTQ,

£€0a Te TOUTOV, TOL DAL eLy, Kal OTével

NV un "1t ToL mEwToL kabilntat EVAo.
DTTVOL O’ 0P TMG VUKTOC 0VOE MATTIAANV.
NV 0’ 0LV KATAUVOT) KAV &XVTV, OHwS €Kkel

0 VOUG TéTeTal TV VOKTA TeQL TV KAepvdoav.

UTTO oL d¢ TNV YMPov vy Exewv elwbévat

TOUG TOELS ELVEXWV TV dAKTVAWY dvioTatal,
womeQ APavwtov EmutiOels vouunvia.

kat vi) Al fjv 0 v€ mov yeyoappévov

viov ITvpAaumoug év Bvpa Anpov kKaAov,
lwv maéyoae mAnolov ‘Knuog kaAdc.”

TOV AAekTELOVA O, OC O &P’ éomépag, ¢
O’ é€eyelpey AUTOV AVATIETIELTHEVOY,

A Twv LTTELOVVWV EXovTa xonHaTa.
€VOVC O’ A0 DOETNOTOL KéKQAYEV EUPBAdAC,
KaTelt’ ékelo’ EABV meokaBevdel TMEW MAVY,
WOTEQ AETIAG QOO EXOUEVOS TQ KIOVL.

VIO dDLOKOALAG O ATIACL TV TV HAKQAV
woTeQ PéALTT 1) BopPBuALog eloépyetat

UTTO TOLG OVULEL KNEOV AVATIEMAROTUEVOG.
Ynowv d¢ deloag un dendein mortg,

v’ &xoL dukalewy, atylxAov évdov teédeL.
TolXUT’ dAVeL: vovOeTovpevog O’ diel

HaAAOV dikalel. TOUTOV OUV PLAATTOHEV
HoxAotow évdnoavteg, wg av ur) &in.

Aristophanes, Wasps, 85-113
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(@) aAAwc pAvageit’ (line 1). Explain why Xanthias says this. [2]

(b) Read lines 3-9 (Ppodow yoao ... kAepvdeav). In what ways is Philocleon like someone who is in
love? [6]

c ead lines 10-24 (070 to0L d¢ ... avamemAaouévog). How does Aristophanes make these lines
(c)* Readli 10-24 (V1O ToL O¢ ) nAacpévoc). How d Ari h ke th li
humorous? [15]

(d) Translate lines 25-29 (yn¢wv d¢ ... un "Eim). [5]

© OCR 2015 H444/04 Turn over
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Section C

Answer one question from this section.

In your response you are expected to draw, where relevant, on material from those parts of the text that
you have read in English, as well as those parts you have read in Greek.

6* How effectively does Homer portray Telemachus’ development in the books of the Odyssey you
have read? [20]
7* ‘An arrogant and over-confident bully.’ Is it possible to feel any sympathy for Oedipus? [20]
8* ‘Fantasy and absurdity are at the heart of Aristophanic comedy.” Do you think this is true of
Wasps? [20]

© OCR 2015 H444/04
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H444/04 Mark Scheme June 20xx

Guidance on applying the marking grids for set text translation

The general principle in assessing each section should be the proportion (out of 5) of sense achieved.

One approach for each section is given. Acceptable alternatives will be illustrated during Standardisation, but examiners should assess on its own
merits any approach that satisfactorily conveys the meaning of the Greek — the crucial consideration being the extent to which every Greek word is
satisfactorily rendered in some way in the English.

The determination of what a “slight” error is only necessary when it is the only error in a section; this distinction will then determine whether a mark
of 5 or 4 is appropriate. Where marks of 4, 3, 2, 1 and 0 are applicable, the overall proportion of meaning conveyed in the section is the only
consideration. The term “major” error has been used here to determine an error which is more serious than a “slight” error.

The classification below should be seen only as a general guide, the intention of which is to maintain standards year-on-year. Lead markers should
consider each instance on its own merits in the context of the passage and the section.

The sort of errors that we would generally expect to be considered as “slight” errors would be:

o a single mistake in the translation of a verb, for example incorrect person or tense

. vocabulary errors that do not substantially alter the meaning

. omission of particles that does not substantially alter the meaning (although in certain cases the omission of a particle may not count as an
error at all, most especially with pev... ¢)

The sort of errors that we would generally expect to be considered as “major” errors would be:

more than one slight error in any one verb

vocabulary errors that substantially alter the meaning

omission of a word or words, including alteration of active to passive if the agent is not expressed
missed constructions

alteration in word order that affects the sense

The final decisions on what constitutes a ‘slight’ and ‘major’ errors will be made and communicated to assessors via the standardisation process
(after full consideration of candidates’ responses) and these decisions will be captured in the final mark scheme for examiners and centres.



HA444/04

Mark Scheme

Marks | Description
5 Accurate translation with one slight error allowed
4 Mostly correct
3 More than half right
2 Less than half right
1 Little recognisable relation or meaning to the Greek

0 = No response or no response worthy of credit.

June 20xx
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Guidance on applying the marking grids for the 15-mark extended response

This question focuses on candidates’ ability to select relevant examples of content and language from the passage and to structure an answer
around these examples to express relevant points. Therefore candidates will be assessed on the quality of the points made and the range and
guality of the examples they have selected from the passage.

Examiners must use a best fit approach to the marking grid. Where there are both strengths and weaknesses in a particular response,
examiners must carefully consider which level is the best fit for the performance overall.

15-mark grid for the extended response question AO3 = 15 marks = Critically analyse, evaluate and respond to literature

Level Marks | Characteristics of performance

. very good engagement with the question
o expresses a range of perceptive points, with very good development, leading to convincing conclusions, based on a
5 13-15 range of well selected, accurate and precise examples from the passage.

The response is logically structured, with a well-developed, sustained and coherent line of reasoning.

° good engagement with the question

° expresses a range of relevant points, with good development, leading to sound conclusions, based on well selected
4 10-12 examples from the passage.

The response is logically structured, with a well-developed and clear line of reasoning.

° some engagement with the question
. expresses reasonable points, with some development, leading to tenable conclusions, based on a selection of
3 -9 some examples from the passage.

The response presents a line of reasoning which is mostly relevant and has some structure.

o limited engagement with the question
° expresses limited points, with little development, leading to a weak conclusion, which is occasionally supported by
2 4-6 examples from the passage

The response presents a line of reasoning but may lack structure.

. very limited engagement with the question
1 1-3 o expresses points which are of little relevance and supported with little evidence from the passage

The information is communicated in an unstructured way.

0 = No response or no response worthy of credit.
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MARK SCHEME

Question Answer Marks Guidance

1(a) the contest of the bow has been set up (1) Penelope acknowledges AO2 | Accept any reasonable response which
the right of the beggar to take part (1) and claims that it would not be 4 shows knowledge and understanding of the
just to deny this (1) or to speak inappropriately to any visitor (1) details included in these lines.

1(b) she comments ‘I suppose’ (1) use of an imperative (1) statement of AO2
‘any one of you’ (1) judgement about what is appropriate (1) 3

1(c)* Assess against criteria in the 15-mark AO3 grid (see above). AO3 | Answers should focus on detail from the

15 passage, and choose a range of examples
Examples of points to be included might be: from the set lines to exemplify their points.
o tactful: addresses Penelope respectfully and with tact (line 11 -
TteQipoV)

e superior: dismissive of beggar as someone who would not be
fitting for Penelope (line 12: &&eoOat 0ioued : ovdE éokev:); refers
to others as xeipoveg (line 15)

e concerned about how people — both men and women
(aloxvvopevor-line 13), especially those below him (kakwtegog —
line 14) will think of him and his companions, if the beggar were to
string the bow (12-16)

e concerned about the beggar’s actions bringing shame on him (line
19)
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Question Answer Marks Guidance
1(d) Assess against criteria in the 5-mark AO2 grid (see above). AO2 | The following examples are intended to
5 exemplify what might constitute a ‘slight’ and
‘Bvovpay’, o0 mws €0ty EUKAELAG KAt dNpov ‘major’ error.

éupeval ol 01 oikov atiualovrteg £dovav . .
HH i Hac > Individual slight errors:

e omission of a translation of TTw¢

oUTog d¢ £lvog HAAa ey péyag d’ evTyNg, e why would you hold these things as bad?
(wrong translation of éAéyxea, but
meaning is close enough not to count as
a major error)

AVOQOG AELOTNOG: TL O éAéyxea TavTa TiOeTOE;

matEog O’ €€ dyabov yévog evxetatl Eupevat viog.”

Suggested translation:
‘Eurymachus, men who dishonour and eat their way through the

household of a noble man cannot gain a good reputation among the Individual major errors:

people: why would you hold these things as a disgrace? This guest is * \évhy Woukl)? 3,')0u EOII? these thingslas_ ;
indeed a rather great and well built man, and he claims to be the son honourable? (wholly wrong translation o
of a good father.’ eAéyxea, all meaning lost)

¢ and they say that he is the son of a good
father. (yévog not translated)
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2(a) Oedipus suggests that Creon has been plotting against him (1), by AO2
saying that he is the murderer of Laius (1) he calls Teiresias an evil- 4
doing prophet (1) and claims that Jocasta has sent Teiresias (as such)
to him (1)
2 (b)* Assess against criteriain the 15-mark AO3 grid (see above). AO3 | Answers should focus on detail from the
15 passage, and choose a range of examples
Candidates should show how Sophocles makes these lines from the set lines to exemplify their points.
dramatically effective. Answers might include:
o direct address to Oedipus ov and use of second person verbs
Aéyeig and imperative 'mdaikovoov (lines 8-9)
e Jocasta’s logical response to the situation: direction to Oedipus to
listen and learn (lines 8-9)
¢ the revelation of the oracle about Oedipus (lines 11ff), step by step
¢ use of the indefinite to refer to her offspring when she is in fact
speaking about Oedipus (dramatic irony): 6otic yévolt' éuov (line
15)
e dramatic narration of what happened to Oedipus (I116ff): specific
details including the Anotat and év toimAaic aupaéiroig but
indefinite on time mot¢ (lines 16-17)
e details of what happened to her child including the verb £ooupev
and the location on a mount (&patov eig époc) but with the
possibility of an ‘error’ in &AAwv xepotv (lines 18-20)
e the ‘removal’ of the threat against Laius as described as to dewvov
oLpofetto.
2(c) the words of prophets have led to the idea of that Oedipus killed Laius AO2 | Credit should be given to reference to the
(1) but that he should not be troubled by this (1) because whenever a 3 preceding lines as their content is referred to

god wants something, he will just get it himself (1)

by towavta.

Accept alternative interpretations of xoetav
éoevva such as what a need/desire and ‘on

the track of’.
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2 (d) Assess against criteria in the 5-mark AO2 grid (see above). AO2 | The following examples are intended to
5 exemplify what might constitute a ‘slight’ and

Ouwlimovg

Toxaotn

Ouwlimovg

olov 1’ dkovoavt’ aotiwg éxet, yovat,
Ppoxne mAdvnua kdvakivnois Gpoevav.

miolag peplpvng tovd’ vrootoadels Aéyels;

£€00&’ axkovoal 0oL TOd', wg 6 Adiog
KkataoPayein mEOg TOLMAALS Apa&LTols.

Suggested translation:

Oedipus:

Jocasta:

Oedipus:

Lady, what restlessness of the soul, what tumult, takes me
since | have heard you speak

What do you mean, by what sort of thought have you been
struck?

| seemed to hear you say this, that Laius was killed at the
meeting of three roads.

‘major’ error.

Individual slight errors:
o ..takes me about to hear you just now.
(single error with verb)

Individual major errors:

e Lady, what restlessness of the soul, and
what tumult, take me since... (ppeviov
not translated)

¢ You seemed to say this, that Laius...
(slight error with verb, but this leads to a
loss of detail in the resulting paraphrase
of dkoloal 0ol 160°. ‘You seemed to
hear you say this’ would conversely have
been an individual slight error.)
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3 The bedroom from which Helen comes is clearly well-appointed (1) AO2
and the fact that Helen is compared to Artemis suggests grandeur (1); 4
she has a number of serving maids (1): Adreste draws up an elegant
chair (1), Alcippe brings a rug of soft wool (1) Phylo brings a silver
work-basket (1); there is also a connection with Thebes in Egypt, from
whence many things have come (1)
3 (b) Assess against criteriain the 5-mark AO2 grid (see above). AO2 | The following examples are intended to
5 exemplify what might constitute a ‘slight’ and

0c MeveAdw dake dU’ doyvoéag doapivOoug,

doloLg d¢ Tolmodag, déka d& XQUOOLo TAAavTA.

Xwols " av0’ ‘EAEvn dAoxog mdpe KAAA LA dwoat:
XOLOENV T’ NAaKATNV TdAaQdV 0 UokLKAOV OTTxCOEV

AQYVQEEOV, XQLOQW O’ Tl xeldea KeKQAAVTO.

Suggested translation:

He gave to Menelaus two silver bath-tubs, two tripods and ten talents
of gold. Apart from this his wife gave Helen beautiful gifts: she gave
her a gold distaff and a basket that ran on wheels made of silver and
which they had finished with gold on the rim.

‘major’ error.

Individual slight errors:

e They gave to Menelaus... (slight error
with verb)

e ...two silver basins... (slight error of
vocabulary)

Individual major errors:

e ...two silver wine-cups... (completely
wrong vocabulary)

¢ And his wife gave Helen... (xwpig
unaccounted for)
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Question Answer Marks Guidance
3 (c)* Assess against criteria in the 15-mark AO3 grid (see above). AO3 | Answers should analyse the style of the
15 passage in detail, and refer to examples
Answers might include: throughout.

¢ the actions of Phylo, including the yarn and wool — vivid

detail of where Helen sat (line 17)

direct speech from Helen to Menelaus, asking who the visitors are;

drama of Helen knowing who Telemachus is (lines 21ff)

intelligence of Helen in recognising Telemachus (lines 22 ff), and

her emphasis on this idea with ovt’ &vdg’ ovte yuvaika

e Helen is described as kvvamdog (line 26) — perhaps surprising
given what has happened

¢ mention of the war at Troy, as seen from the perspective of one of
its main leaders (lines 26-7)

3(d) Menelaus picks up the idea that this is Telemachus (1) by describing AO2 | The points raised should be drawn directly
how he looks like Odysseus in the details of his appearance (1) he 4 from these lines.

then comments on Telemachus shedding a tear for Odysseus (1) and
covering his eyes (1)

10
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4 (a) Assess against criteria in the 5-mark AO2 grid (see above). AO2 | The following examples are intended to
5 exemplify what might constitute a ‘slight’ and
GAA” dodaela TV dvopBwoov TOALV: ‘major’ error.
0QVIOL YaQ Kal TV TOT aioiey TOXNV Individual minor errors:
TARETXES TIHLY, KAl TAVLV {00g Yevou. e But you will set this city right in safety.
WG elmeQ apelc TNOdE Y1NG, WOTEQ KQATELS, (single error with verb)
ELV AVOQATLY KAAALOV 1) KEVIG KOATELV: o )
Individual major errors:
But set this city right in safety. For you gave us our fortune then with a (multiple errors with verb)
favourable bird: now become equal to that. As if you will rule this land, * Asif this city will be ruled, as you
as you command it, it will be better with men than to rule somewhere command it (active and passive
that is empty. swapped with loss of agent)
o It will be better to rule with men or empty.
(structure incorrect)
4 (b)* Assess against criteria in the 15-mark AO3 grid (see above). AO3
15

Answers might include:

calling his people pitiable children (® maideg otktoot) — superior
claiming to know about his people’s suffering (lines 8-10) —in
touch

claiming to be suffering like them (line 11 - ¢ ioov)

claiming that the suffering comes to him personally more than
anyone else (lines 12-14)

he is not being woken in his sleep (lines 15-16), and that he
himself is crying (daxpvoavta)

he has been thinking about the issues a lot (line 17)

he has taken decisive action — the only course of action open to
him as he sees it, and sent Creon to the oracle (line 18ff)

wants to set things right himself (line 22 - dvoaiunv)

feels that he must do what the god commands (lines 26-27) or
otherwise he will be evil (kakog)

11
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4 (c) The people of Thebes are looking to Oedipus for help in their difficult AO2 | They may wish to include details from before
situation (1) Creon brings news that the murdered of Laius must be 5 the arrival.
found (1) this leads to the summoning of Teiresias (1) and the
realisation by Oedipus that he is that murderer (1) which leads to
Oedipus blinding himself (1)

4 (d) Creon is shining in his face (1) and is wearing a garland (1) which is AO2
rich in quality (1) 3

12
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5 (a) He believes that the ideas suggested by Sosias (1) and others about AO2 |reference should be made to the preceding
the trouble with Philocleon are nonsense (1) 2 dialogue with Sosias and the audience
5 (b) He is suffering from a disease (1) he is a lover of trials (1) like no other | AO2
man (1) he loves being on a jury (1) he groans (1) when he doesn'’t get 6
to sit on the front bench (1)
5 (c)* Assess against criteriain the 15-mark AO3 grid (see above). AO3 | If candidates do not find the passage
15 humorous, but discuss the details with

Answers may include the following, and should include some

discussion of how each feature adds to the humour of the passage:

e heis accustomed to holding his vote between his first three fingers
(lines 10-11)

o reference to Pyrilampes’ son — Pyrilampes was a prominent
individual in Periclean Athens

e the ‘pun’ on Anuov kaAdv and knuog kaAdc. in lines 14-15.

¢ the jokes surrounding the cock in lines 15, with the old man
complaining (contrary to common practice) that the cock was
crowing far too late

e the cock has been bribed - avameneiopévov (line 17)

e idea of the old man going out immediately after dinner (line 19 amo
dopmnoTov) to go to the law-court

e analogy of the man to a limpet (Aemtaxc) on a pillar in the law-court

e parodies of court procedure in the final lines (lines 22ff): awarding
a long line (ie the more severe penalty) to all the accused

e wax plastered under his nails (line 24).

appropriate precision, marks should still be
awarded in line with the marking grid.

13
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5 (d) Assess against criteria in the 5-mark AO2 grid (see above). AO2 | The following examples are intended to

Pnodwv d¢ deloag un dendein more,

v’ éxoL dkalerv, atyladov €vdov teédel.
Tolavt aAvet vovOetovpevog O’ del
HaAAoOV dkalel. TOUTOV OUV PLUARTTOHEV
HOXAOLOLV EVON|oavTeS, e av ur) ‘&,

Suggested translation:

(and) fearing that he might run out of pebbles at some point, he keeps
enough at his home to cover a beach, so that he may cast his vote.
Such is his frenzy: he is always being warned, but keeps on passing
more judgments. Therefore we keep him under guard, having shut him
in with bars, so that he can/does not go out.

exemplify what might constitute a ‘slight’ and
‘major’ error.

Individual slight errors:

¢ he is always being warned, but they
keep on passing more judgements
(Single error with verb)

Individual major errors:

o fearing that he might run out of votes at
some point (not the right choice of
meaning in the context; the passage
clearly implies which meaning should be
chosen)

e Therefore we keep him under guard,
having shut him in with bars, just as if he
does not go out. (structure incorrect)

14
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Guidance on applying the marking grids for the 20-mark extended response

Two Assessment Objectives are being assessed in Questions 6, 7, and 8 — AO2 (Demonstrate knowledge and understanding of literature) and
AQO3 (Critically analyse, evaluate and respond to literature). The two Assessment Objectives are equally weighted.

Examiners must use a best fit approach to the marking grid. Where there are both strengths and weaknesses in a particular response,
particularly imbalanced responses in terms of the assessment objectives, examiners must carefully consider which level is the best fit for the
performance overall. For example, you should not be able to achieve a mark of 14 made up of AO2 =11 and AO3 = 3.

Responses are credited for AO2 for the detail and accuracy of the knowledge of the set text they deploy and for their understanding of the set
text(s) as well as the social, historic and cultural context for the set text.

Responses are credited for AO3 for how well the response addresses the question, for candidates selecting relevant examples from the set
texts they have studied and drawing and expressing conclusions based on the selected examples in relation to the question posed.
Candidates will be assessed on the quality of the conclusions and points they argue and the range and quality of the examples they have

selected.
20-mark grid for the extended response question AO2 = 10 marks = Demonstrate knowledge and understanding of literature
AO3 = 10 marks = Critically analyse, evaluate and respond to literature
Level | Marks Characteristics of performance
e very detailed knowledge and a thorough understanding of the material studied including, where appropriate, the social,
cultural and historic context (AO2)
5 17-20 |* an excellent response to the question containing a wide range of relevant points, which are very well-supported by
examples selected with precision from the material studied, leading to cogent conclusions (AO3)
The response is logically structured, with a well-developed, sustained and coherent line of reasoning
¢ detailed knowledge and a sound understanding of the material studied including, where appropriate, the social, cultural
and historic context (AO2)
4 13-16 |*® @agood response to the question containing a range of relevant points, which are well-supported by examples from the
material studied, leading to appropriate conclusions (AO3)
The response is logically structured, with a well-developed and clear line of reasoning

15
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¢ some knowledge and understanding of the material studied including, where appropriate, the social, cultural and historic
context (AO2)

3 9-12 |* areasonable response to the question containing some relevant points, which are generally supported by examples

from the material studied, leading to tenable conclusions (AO3)

The response presents a line of reasoning which is mostly relevant and has some structure

¢ alimited knowledge and understanding of the material studied including, where appropriate, the social, cultural and
historic context (AO2)

2 5-8 |* alimited response to the question containing some points, which may be narrow in scope, which are occasionally

supported by examples from the material studied or are unsupported assertions, leading to a limited conclusion (AO3)

The response presents a line of reasoning but may lack structure

¢ very limited knowledge and understanding of the material studied including, where appropriate, the social, cultural and
historic context (AO2)
1 1-4 |« little or no engagement with the question and any points made are of little or no relevance (AO3)

The information is communicated in an unstructured way

0 = No response or no response worthy of credit.

16
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6* How effectively does Homer portray Telemachus’ development in| 20 made | Examiners should look for the quality of

the books of the Odyssey you have read? up of argument and the use of evidence within
the argument, as well as evidence for a
Assess against criteria in the 20-mark grid (see above). AO2 =10 | clear range of relevant examples.
&

Arguments may include (AO3): AO3 =10 | An AO2 heavy response may focus on

Arguments should focus on the “effectiveness” of the portrayal of
Telemachus, and answers which argue for or against the proposition
should be equally rewarded.

The contrast between Telemachus’ dealings with the suitors in book 1
and his increased confidence when he confronts them in 21 might be
seen as an effective way of showing his development. The surprise of
Penelope at his confidence and willingness to defend his rights might
also be argued to be clear evidence of character development.

Some candidates may feel that his development is not clearly shown
as he is consistently supported by others throughout the book, rather
than developing an ability to act independently. It is the presence of his
father at the end of the work which gives him confidence, rather than
his own character development and growing maturity.

Supporting evidence may include (AO2):

Candidates should make reference to specific incidents in the
prescribed books, both the sections which they have read in Greek
and in English.

e the opening scene with Athene visiting Telemachus in the palace:
he is away from the suitors; she appears in disguise, encourages
him to go to Sparta

¢ the speeches which Telemachus makes in book 1 to the suitors,
and their reaction to his actions

¢ the plotting of the suitors against Telemachus — they see him as a
threat

details from the material studied but not
draw many valid conclusions. This will
limit the level at which this work can be
rewarded at, as detailed in the ‘Guidance
on applying the marking grids’ section
above.

17
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Question

Answer

Marks

Guidance

Telemachus’ arrival in Sparta — assistance of Athene, his lack of
understanding of some customs and the support of Nestor’s son
the welcome Telemachus receives in Sparta, and the comparison
made by Helen between him and his father

Telemachus’ interest in knowing about his father and in meeting
the great Helen

the threat against Telemachus from the suitors, as outlined at the
end of book 4

Telemachus’ standing up against the suitors in book 21 and his
plot with Odysseus

Telemachus’ treatment of Penelope in book 21, and the authority
which he believes that he has in the household and over the
contest of the bow

Penelope’s shock when Telemachus’ stands up for that authority
the contest of the bow and Telemachus’ role in supporting
Odysseus in book 22

the killing of the suitors and Telemachus’ role therein.

18
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7* ‘An arrogant and over-confident bully.’ Is it possible to feel any | 20 made | Answers which argue for or against the
sympathy for Oedipus? up of proposition should be equally rewarded.
Examiners should look for the quality of
Assess against criteria in the 20-mark grid (see above). AO2 =10 | argument and the use of evidence within
& the argument, as well as evidence for a
Arguments may include (AO3): AO3 =10 |clear range of relevant examples.

Answers should include an evaluation of the statement in the question,
specifically the issue of having “sympathy” for Oedipus. They may also
possibly include a reasoned argument as to whether the description of
Oedipus as ‘An arrogant and over-confident bully’ is accurate. The
below is not an exhaustive list of approaches, any sensible response
focused on the question should be credited.

Candidates may argue that the statement that Oedipus is an arrogant
and over-confident bully is either wholly or partially inaccurate,
meaning that he is in fact a sympathetic character. Equally they may
argue that whilst he is not the arrogant bully of the question, he still is
undeserving of the audience’s sympathy due to other qualities; for
example his suspicious and untrusting nature.

Candidates may argue that whilst Oedipus is an over-confident bully it
is still possible to feel sympathy for him as his troubles and the
situation he finds himself in by the end of the play are so unpleasant
and distressing as to be a harsh punishment for any man, even one
accused of being a bully.

Finally, candidates might feel that Oedipus doesn’t deserve the
description contained in the question, and is fully deserving of our
sympathy. It might be argued that his dogged determination to
discover the truth appears to be bullying, but is in fact an
understandable or defensible response to his situation.

An AO2 heavy response may focus on
details from the material studied but not
draw many valid conclusions. This will
limit the level at which this work can be
rewarded at, as detailed in the ‘Guidance
on applying the marking grids’ section
above.
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Supporting evidence may include (AO2):

Candidates should make reference to specific incidents in the
prescribed books, both the sections which they have read in Greek

and in English.

Oedipus’ opening statements and offers of help

his suspicion of Creon from the beginning, and assumption that
there was a plot against him

Oedipus’ aggressive response to Teiresias, including trading of
insults on blindness

Oedipus’ treatment of the shepherd (possible discussion of the
treatment of slaves in Athens should be credited but not expected)
Oedipus’ determination to ‘know’ what happened and solve the
problem of Thebes’ sickness

The dialogue with Jocasta and his dogged determination to
continue with his inquiries

The changes in Oedipus’ understanding as the play unfolds, and
his response to the knowledge of his own situation

Oedipus’ response to the death of Jocasta, and his self-blinding
Creon’s and the Chorus’ final reflections on his ‘fallen glory’ and
loss of position as a king.

20
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8* ‘Fantasy and absurdity are at the heart of Aristophanic comedy.” Do| 20 made
you think this is true of Wasps? up of Answers which argue for or against the
proposition should be equally rewarded.
Assess against criteriain the 20-mark grid (see above). AO2 = 10 | Examiners should look for the quality of
& argument and the use of evidence within
Arguments may include (AO3): AO3 =10 |the argument, as well as evidence for a

Some candidates may consider whether fantasy and absurdity are
indeed at the heart of Aristophanic comedy, or whether there is more to
the comedy than this. Others may take this statement as true and
assess its validity with regards to the Wasps specifically.

Candidates may focus on aspects of humour or on the political and
social messages in the play. Either approach would be valid, or a
combination of both.

Candidates may argue that the mundane focus on jury trials means that
the statement is not true of the Wasps, however they may also argue
that whilst the focus might be mundane, the idea of someone being so
obsessed with serving on a jury crosses into the realms of the absurd.

Candidates may discuss Aristophanes’ use of toilet humour, arguing
perhaps that such humour does not lend itself to “fantasy and absurdity”.

This is not an exhaustive list of responses, all well-reasoned approaches
should be credited.

Supporting evidence may include (AO2):

Candidates should make reference to specific incidents in the prescribed
books, both the sections which they have read in Greek and in English.
¢ The idea of someone being sick and obsessed with serving on a jury
o The idea of a chorus of Wasps, and their symbolism within the play

o The attempts to keep Philocleon in his house

clear range of relevant examples.

An AO2 heavy response may focus on
details from the material studied but not
draw many valid conclusions. This will limit
the level at which this work can be
rewarded at, as detailed in the ‘Guidance
on applying the marking grids’ section
above.
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The mock trial in the house with household implements as witnesses
in the trial, but still having a basis in the reality of an Athenian trial
the use of various types of humour throughout the play, including
toilet humour and the mockery of contemporary individuals

the figure of Cleon in contemporary politics and his role in the action
of the Wasps

engagement with the audience in the opening lines in particular, and
the relevance of the play to contemporary Athenian society.
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APPENDIX 1: ASSESSMENT OBJECTIVE GRID

Mark Scheme

Question

Distribution of marks for each Assessment Objective

Section A

AO1

AO2

AO3

la,b,d
2a,c,d

12

lc
2b

15

3a,b,d
44a,c,d
5a,b,d

13

3c
4 b
5c¢

15

6,70r8

10

10

TOTAL

35

40
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